Obtain a small-signal equivalent circuit for the amplifier given below. Then find the input resistance, output resistance and
voltage gain of the amplifier. Threshold voltage =2.3 V, K=5mA/V * r,=200 kQ.
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For the differential amplifier below, find the dc collector currents of Q1 and Q2, differential mode single ended voltage
gain, input resistance, output resistance, and common mode single ended voltage gain and input resistance. Also calculate
the amplitude of the maximum differential mode input voltage that results in no distortion at the output. (Silicon BJT with
B= 300, V,=250V)
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